Virginia High School League

Scholastic Bowl, 2001-02 season

District Competition, Match #15

These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Adam Fine and Bryce Avery are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a) Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District before all District champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups
1.
Who is the leggy, blonde, conservative columnist that got fired from her job with National Review online due to her comment that “we should invade Moslem countries and convert them to Christianity?”

ANSWER: Ann COULTER
2.
Not to be confused with the melting point, what name is given to the temperature where both a solid and liquid can exist at equilibrium, a temperature which is 32 degrees Fahrenheit for water?

ANSWER: FREEZING POINT
3.
What was the last name of Jem, Scout and Atticus in the novel To Kill a Mockingbird?

ANSWER: FINCH
4.
Who is the Roman Emperor who had his son Commodus follow him as Emperor and was the author of the philosophical classic, Meditations?

ANSWER: MARCUS AURELIUS
5.
THIS IS A COMPUTATION QUESTION. Take two triangles ABC and CDE, which share a vertex at C, and where A is above B and D is above E. Now, assume that angles A and D are 30 degrees, and the line segments AC and CD are equal. Angle B is 40 degrees. What is the measure of angle BCA?

ANSWER: 110 degrees

6.
What is the conjugate of the binomial 3x plus 5y?

ANSWER: 3X – 5Y
7.  
A movement in Brahms’s Fourth Symphony and Liszt’s Piano Concerto in E-Flat both call for the use of which instrument, a thin metal bar bent into a three-sided shape, and hit by a metal rod?

ANSWER:  TRIANGLE 

8.
Who was the early 20th century naval officer and historian who advocated a large American navy in his book, The Influence of Sea Power upon History?

ANSWER: Alfred Thayer MAHAN
9.  
Despite her death at age 24 in 1290, what young woman served as a lifelong inspiration and a principal character source to the author of The Divine Comedy?

ANSWER:  BEATRICE Portinari

10.  
It works by blocking an enzyme that breaks down cGMP, a relaxant of smooth muscle.  The cGMP then allows for dilated blood vessels, making what drug effective at treating two-thirds of men suffering from erectile dysfunction?

ANSWER:  VIAGRA
11.
In February 1984, what famous French-Canadian Prime Minister announced he was stepping down after 15 years in power?

ANSWER: Pierre Elliott TRUDEAU
12.
Take two functions f and g. If f of g of x equals x for all x in the domain of g, and g of f of x for all x in the domain of f, f and g are said to have what relationship?

ANSWER: INVERSE or they are INVERSES
13.  
French for “thrown,” in ballet what name is given to a big jump in which the dancer pushes off on one foot, holds a brief pose in the air, and then lands on the other foot?

ANSWER:  JETÉ (juh-TAY)

14.  
The second one, held in New York in 1997, concentrated on deforestation.  What world conference, dealing with the relation between economic development and the environment, was first held in Rio de Janeiro in 1992?

ANSWER:  EARTH SUMMIT (accept UNITED NATIONS CONFERENCE ON ENVIRONMENT AND DEVELOPMENT)

15.
He first came to Dawson’s Landing intending to create a law practice, but his sense of humor proves too odd for the townspeople. So he makes money by taking on odd surveying and accounting jobs. However, through his hobby of fingerprinting, he is able to vindicate a leading citizen of the town and become mayor. This is a description of what novel by Mark Twain?

ANSWER: PUDD’NHEAD WILSON
Second period: 10 directed questions for each team

Questions with an A after their number will be read to the team that selects set A of questions; questions with a B after their number will be read to the team that selects set B of questions.
1A.  
Which author wrote a 1948 story about racial inequality in South Africa, Cry the Beloved Country?

ANSWER:  Alan PATON
1B.
They had a tail, two horns on their forehead, and pointed goatlike ears.  What lustful woodland creatures accompanied the Greek god of wine, Dionysus?

ANSWER:  SATYRS
2A.
What city is located at the junction of the Cuyahoga River and Lake Erie, and is the largest city on Ohio’s northern shore?

ANSWER: CLEVELAND
2B.  
Containing RNA instead of DNA, what type of virus uses reverse transcriptase to convert its disease-causing information into DNA?

ANSWER:  RETROVIRUS
3A.
THIS IS A COMPUTATION QUESTION. Take a circle with a radius of 8 and a center at O. Take an 60-degree angle AOB. What is the length of the minor arc AB?

ANSWER: 8/3 PI or 16/6 PI
3B.
Cassie Logan is the main character of what novel by Mildred D. Taylor?

ANSWER: ROLL OF THUNDER, HEAR MY CRY
4A.  
What Oscar-winning actress recently played Rosemary Shanahan, an overweight woman whom Jack Black sees as thin in “Shallow Hal?”

ANSWER:  Gwyneth PALTROW
4B.
Who was the Massachusetts Senator nearly caned to death by Preston Brooks for expressing strong abolitionist views on the Senate floor?

ANSWER: Charles SUMNER

5A.  
Which American physician developed the original vaccine, based on heat-killed viruses, to combat polio?

ANSWER:  Jonas SALK
5B.
For what values of P and Q is the following statement false? If P, then Q?

ANSWER: P IS TRUE and Q IS FALSE
6A.
The word astronaut comes from the two Greek words meaning what?

ANSWER: STAR and SAILOR (or SHIP)

6B.
He has met with top government officials to discuss his plans, using his company’s database software, of course, for a national ID system. Who is this CEO of Oracle Software?

ANSWER: Larry ELLISON
7A.
What was the birth name of the Mongol ruler who became known as Genghis Khan?

ANSWER: TEMUJIN
7B.
What is the heaviest noble gas, a radioactive gas listed by the EPA as a household environmental threat?

ANSWER: RADON
8A.
THIS IS A COMPUTATION QUESTION. What number is 80 percent of 96?

ANSWER: 76.8
8B.
The novel For Whom the Bell Tolls is set during what country’s civil war?

ANSWER: SPAIN
9A.  
Which genre of painting saw Diego Rivera as its greatest twentieth-century exponent, with his depictions of the Mexican Revolution on walls?

ANSWER:  MURALS
9B.
What is the adjective given to costs which do not change relative to the amount of output, including things such as staff salaries, equipment and location rent and insurance?

ANSWER: FIXED
10A.
What name is given to the process where one atom’s fissioning leads to the fissioning of other atoms?

ANSWER: CHAIN REACTION
10B.
THIS IS A COMPUTATION QUESTION. What is the height of a trapezoid with an area of 28 and bases of 3 and 4?

ANSWER: 8 

Third period: 15 tossups
1.  
What simple agricultural technique, involving the clearing of vegetation for short-term farming until the soil loses its fertility, can cause widespread deforestation when large, concentrated populations do it?

ANSWER:  SLASH AND BURN

2.
What word, created by Gilbert and Sullivan in the Mikado, is used either to describe someone who holds a high office, or a pompous official who has so many offices he is unable to perform any of his tasks effectively?

ANSWER: POOBAH
3.
The rulers of Morocco, Algiers, Tripoli and Tunis were known by what collective name during the 18th and early 19th centuries, until the US were able to defeat them in a series of wars between 1803 and 1816?

ANSWER: BARBARY STATES or BARBARY PIRATES
4.
THIS IS A COMPUTATION QUESTION. A man invests $20,000 in a mutual fund that has a 10% annual return. How much money does he have at the end of the second year?

ANSWER: $24,200

5.  
It now describes one who has a generally destructive, negative outlook, but what designation was originally given to Russian radicals who rejected all traditional institutions, values, and authority?

ANSWER:  NIHILIST (NEE-il-ist)

6.
What is the plural of the word “ox”?

ANSWER: OXEN
7.
What name is given to the practice where citizens of some states can remove an individual from office in the middle of his term?

ANSWER: RECALL
8.
THIS IS A COMPUTATION QUESTION. What is the value of the variable x in the equation 3x + 2 = 5x – 3?

ANSWER: 5/2 or 2 1/2
9.  
Roger Corman gave him an opportunity to direct “Boxcar Bertha” in 1972, but his portrayal of Little Italy’s “Mean Streets” the following year began what director’s affiliation with Robert De Niro, continued in “Taxi Driver” and “Raging Bull?”

ANSWER:  Martin SCORSESE (scor-SAY-zee)

10.
It was first observed in 1827 by the British botanist whose name is associated with it. What is this motion caused by molecules of a suspended substance colliding with molecules of the surrounding medium, a seemingly random movement?

ANSWER: BROWNIAN motion

11.
What name is given to a binary tree where a node must have a greater value than its children?

ANSWER: HEAP
12.  
Their younger brother Andy died of drug addiction.  They scored a hit record in the late 1960s with “I Gotta Get a Message to You,” but what trio hit it really big in the disco era with their work on the “Saturday Night Fever” soundtrack, such as the song “Stayin’ Alive?”

ANSWER:  The BEE GEES (or The BROTHERS GIBB)

13.  
It consists of two parts:  a more fixed back part attached to the oropharynx, and a free part in front, containing papillae.  What vital organ located in the mouth is studded on its upper surface with taste buds?

ANSWER:  TONGUE
14.  
Seventeenth century writer Basho was the master of what poetic form, containing three lines in 5-7-5 syllabic pattern?

ANSWER:  HAIKU  

15.
In 1872, he made a poor showing against Ulysses S. Grant and died less than a month after the election. Who is this man who founded the New York Tribune and originated the phrase, “Go west, young man?”

ANSWER: Horace GREELEY
SPARE QUESTIONS (In the second period, try to replace the question discarded with the a spare question in that subject area – i.e. science for science, social studies for social studies, etc.) Be sure to cross out the questions if/as they are used.
THIS IS A COMPUTATION QUESTION. Take two line segments AB and CD, with A and C on the left side. Draw a line EF, with E at the top, through them so that EF intersects AB at G and EF intersects CD at H. If angle AGE is 55 degrees, what measure is angle DHF?

ANSWER: 135 degrees

In 1822, Pedro I declared what country’s independence from Portugal?

ANSWER: BRAZIL
The Hebrew Bible mentions this practice in certain areas of Palestine, while in India it was done for worship of the goddess Kali until the nineteenth century.  What religious act, though, was practiced in its greatest scale by the Aztecs?

ANSWER:  HUMAN SACRIFICE
According to Herodotus, he was a sixth century BC Phyrgian (FRIDGE-ee-an) slave-turned public defender.  Who, however, is best known as a writer of moralistic stories where animals illustrate human nature, works known as fables?

ANSWER:  AESOP (EE-sop)

What unit of energy is equal to 3,600,000 joules, or more familiarly, 1000 watts over a period of 1 hour?

ANSWER: KILOWATT-HOUR
All questions © 2001 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.


